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ELLIPSE

1. Find the distance between the directrices of

2 2

i x (]
the ellipse +
P>€ 36

= 1.
20



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_CPtuIhoAjctV

° Watch Video Solution

2. If the eccentricity of an ellipse is 3 and the

distance between its foci is 10, then find the

latusrectum of the ellipse.

° Watch Video Solution

3. Find the eccentricity, centre, vertices, foci,

minor axis, major axis, directrices and latus-


https://dl.doubtnut.com/l/_CPtuIhoAjctV
https://dl.doubtnut.com/l/_B4NUYQINKfo9
https://dl.doubtnut.com/l/_48uoK9O0yNlE

rectum of the ellipse

2522 + 9y? — 150z — 90y + 225 = 0.

° Watch Video Solution

4. Find the eccentricity, foci and the length of
the latusrectum of the ellipse

2 + 4 +8y—2x+1=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_48uoK9O0yNlE
https://dl.doubtnut.com/l/_nVZIOyGnmdf1

5. For the following ellipses find ellipses find
the lengths of major and minor axes,
coordinates of foci, vertices and the

eccentricity: 16z + 25y = 400

o Watch Video Solution

6. Show that 2% + 4y?> — 2z + 16y + 13 =0
is the equation of an ellipse. Find its
eccentricity, vertices, foci, directices and , the

length and the equation of the latus-rectum.

| & I


https://dl.doubtnut.com/l/_GijegjqHoV2d
https://dl.doubtnut.com/l/_NJB39ql91kzD

| ¥ Watch Video Solution |

7. Find the equation of the ellipse with focus
at ( —1,1) and eccentricity 3 and directrix

z—y+3=0.

o Watch Video Solution

8. Find the equation of the ellipse whose
1
eccentricity is oL the focus is (1,1) and the

directrixisx —y+ 3 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_NJB39ql91kzD
https://dl.doubtnut.com/l/_lcjbu0vvfHS7
https://dl.doubtnut.com/l/_qZVJisoz2gm3

9. Find the equation of the ellipse whose focus

is (1,0), the directrix is x +y+ 1 =0 and

eccentricity is equal to
V2.

o Watch Video Solution

10. A straight rod of given length slides
between two fixed bars which include an angle
of 90° . Show that the locus of a point on the

rod which divides it in a given ratio is an


https://dl.doubtnut.com/l/_qZVJisoz2gm3
https://dl.doubtnut.com/l/_EQFooZEpvaiu
https://dl.doubtnut.com/l/_CqeDJjxk7cRW

ellipse. If this ratio be 1/2, show that the

eccentricity of the ellipse is /3 /2.

° Watch Video Solution

1. A point moves so that the sum of the
squares of its distances from two intersecting
straight lines is constant. Prove that its locus

is an ellipse.

o Watch Video Solution



https://dl.doubtnut.com/l/_CqeDJjxk7cRW
https://dl.doubtnut.com/l/_4DLLE12gdlHq

12. Find the equation of the set of all points
2
whose distances from (0,4) are 3 of their

distances from the liney = 9.

o Watch Video Solution

13. Find the equation of the ellipse whose axes
are along the coordinate axes, vertices are

(0, 4+ 10) and eccentricitye = 4/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_wuu5S4Am8DSh
https://dl.doubtnut.com/l/_tSHIBgxrzZJc
https://dl.doubtnut.com/l/_WNV9bYtivzkY

14. If the latusrectum of an ellipse is equal to

half of minor axis, find its eccentricity.

° Watch Video Solution

15. Find the equation of the ellipse whose axes
are parallel to the coordinate axes having its
centre at the point (2, — 3) one focus at

(3, — 3) and vertex at (4, — 3)-

o Watch Video Solution



https://dl.doubtnut.com/l/_WNV9bYtivzkY
https://dl.doubtnut.com/l/_bhgQNtIqGnL7
https://dl.doubtnut.com/l/_gHiHuOExoO6G

16. Find the equation of the ellipse with foci at

36
(+5,0)and x=—- as one of the directrices.

° Watch Video Solution

17. Find the equation of the ellipse whose
centre is at the origin, foci are

(1, 0)and( — 1, 0) and eccentricity is 1/2.

° Watch Video Solution



https://dl.doubtnut.com/l/_gHiHuOExoO6G
https://dl.doubtnut.com/l/_6EGh2616mMRe

18. Find the equation of the set of all points
the sum of whose distance from the points

(3,0)and(9, 0) is 12.

o Watch Video Solution

19. Arod AB of length 15¢m rests in between
two coordinate axes in such a way that the
end point A lies on x — axis and end point B
lies on y-axis . A point is taken on the rod in

such a way that AP = 6cm . Show that the


https://dl.doubtnut.com/l/_CqouRxqyH73A
https://dl.doubtnut.com/l/_qR4sozACtMGO

locus of P is an ellipse. Also find its

eccentricity.

° Watch Video Solution

20. Find the equation of the ellipse whose foci
are (2,3),( —2,3) and whose semi-minor

axes is /5.

° Watch Video Solution



https://dl.doubtnut.com/l/_qR4sozACtMGO
https://dl.doubtnut.com/l/_B1Dg3kSqxDUH

21. The weight of an object on the surface of
the Earth is 40 N. Its weight at a height equal

to the radius of the Earth is

o Watch Video Solution

22. An arc is in the form of a semi-ellipse. It is
8m wide and 2m high at the centre. Find the
height of the arch at a point 1. 5m from one

end.

° Watch Video Solution



https://dl.doubtnut.com/l/_B1yueQtWIgqd
https://dl.doubtnut.com/l/_fJxOsTNnwxXI

23. Find the equation of the ellipse whose axes

are along the coordinate axes, vertices are

( £ 5,0) and foci at ( 4, 0).

° Watch Video Solution

24. Find the equation of the ellipse whose axes
are along the coordinate axes, foci at

(0, + 4) and eccentricity 4/5.

° Watch Video Solution



https://dl.doubtnut.com/l/_fJxOsTNnwxXI
https://dl.doubtnut.com/l/_Rfm8ijL0cUIg
https://dl.doubtnut.com/l/_Y9cBglMtAtqC

25. Find the equation of the ellipse (referred

to its axes as the axes of zandy , respectively)

1
whose foci are ( & 2, 0) and eccentricity is 3

o Watch Video Solution

26. A man running a racecourse notes that the
sum of the distances from the two flag posts
from him is always 10 m and the distance
between the flag posts is 8 m. Find the

equation of the posts traced by the man.

| & I


https://dl.doubtnut.com/l/_OhGdT1yvXqw2
https://dl.doubtnut.com/l/_DCaMUiEukQFQ

| ¥ Watch Video Solution |

27. Find the equation of the ellipse whose
focus is (1,-2) the directrix

3x — 2y + 5 = 0 and eccentricity equal to 1/2.

o Watch Video Solution

28. Find the equation of the ellipse in the

following case: focus is (0,1) , directrix is

1
w+y20and€: E

o Watch Video Solution



https://dl.doubtnut.com/l/_DCaMUiEukQFQ
https://dl.doubtnut.com/l/_C70Zrv6SLwUr
https://dl.doubtnut.com/l/_jBNVeGXCqM1Y

29. Find the equation of the ellipse in the
following case: focus is (-1,) directirx s

1
:c—y+3:Oande:§.

o Watch Video Solution

30. Find the equation of the ellipse in the
following case: focus is (-2,3) directrix is x+y=0

and e=1/2

o Watch Video Solution



https://dl.doubtnut.com/l/_jBNVeGXCqM1Y
https://dl.doubtnut.com/l/_E8rjFWqtLsAB
https://dl.doubtnut.com/l/_RMabMo6wayxc

31. Find the equation of the ellipse in the

following case: focus is (1,2), directrix is

1
3w+4y—5:Oande:§.

o Watch Video Solution

32. Find the eccentricity ,coordinates of foci
Jlength of the latus rectum of the following

ellipse: 4 +9y° =1

o Watch Video Solution



https://dl.doubtnut.com/l/_RMabMo6wayxc
https://dl.doubtnut.com/l/_vx7WboXpB8lG
https://dl.doubtnut.com/l/_rUq1ZkpnjzCY

33. Find the eccentricity ,coordinates of foci,

length of the latus rectum of the following

ellipse: 2522 + 16y* = 1600.

o Watch Video Solution

34. Find the eccentricity ,coordinates of foci,
length of the latus rectum of the following

ellipse: 5z + 4y* = 1

o Watch Video Solution



https://dl.doubtnut.com/l/_3SkvpTZJ8nzx
https://dl.doubtnut.com/l/_BUhpZbw4kW2z
https://dl.doubtnut.com/l/_3YtwnV2xXGTz

35. Find the eccentricity ,coordinates of foci,
length of the latus rectum of the following

ellipse: 42 + 3y* = 1

o Watch Video Solution

36. Find the eccentricity, coordinates of foci,

length of the latus rectum of the following

ellipse: 922 + 25y% = 225

o Watch Video Solution



https://dl.doubtnut.com/l/_3YtwnV2xXGTz
https://dl.doubtnut.com/l/_Qx1I9KbJrtOx
https://dl.doubtnut.com/l/_JGDDRAfuFPJA

37. Find the equation to the ellipse (referred
to its axes as the axes of z and y respectively)

which passes through the point (-3,1) and has

| 2
eccentricity 5

o Watch Video Solution

38. Find the equation of the ellipse (referred

to its axes as the axes of zandy , respectively)

1
whose foci are ( & 2, 0) and eccentricity is 3

o Watch Video Solution



https://dl.doubtnut.com/l/_JGDDRAfuFPJA
https://dl.doubtnut.com/l/_yfPx8ZvxUrHw
https://dl.doubtnut.com/l/_ZxXDnahKBDJD

39. Find the equation of the ellipse in the

following case: eccentricity e = 3 and length

of latus rectum = 5.

o Watch Video Solution

40. Find the equation of the ellipse in the

following case: eccentricity e = 3 and semi

major axis = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxXDnahKBDJD
https://dl.doubtnut.com/l/_7WYASiqoiIws
https://dl.doubtnut.com/l/_z9QgpG8DSP2t

41. Find the equation of the ellipse in the

following case: eccentricity e = 3 and major

axis = 12

o Watch Video Solution

42. Find the equation of the ellipse in the
following case: the ellipse passes through (1,4)

and (-6,1).

o Watch Video Solution



https://dl.doubtnut.com/l/_z9QgpG8DSP2t
https://dl.doubtnut.com/l/_ciZjYHZ8yxJ8

43. Find the equation of the ellipse whose axes

are along the coordinate axes, vertices are

( £ 5,0) and foci at ( £ 4, 0).

o Watch Video Solution

44. Find the equation of the ellipse in the
following case: ends of major axis ( & 3,0)

ends of minor axis (0, £ 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_yRcHBi6BDJYv
https://dl.doubtnut.com/l/_LCoBXvh2gann
https://dl.doubtnut.com/l/_VdFDzjWSwnyh

45. Find the equation for the ellipse that

satisfies the given conditions: Ends of major

axis (0, = +/5) , ends of minor axis ( £ 1, 0)

o Watch Video Solution

46. Find the equation for the ellipse that

satisfies the given conditions: Length of major

axis 26, foci ( + 5, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_VdFDzjWSwnyh
https://dl.doubtnut.com/l/_u20WnnNMbnJ0
https://dl.doubtnut.com/l/_xvTkcaJLugfO

47. Find the equation of the ellipse in the
following case: Length of minor axis 16 foci

(0, + 6)

o Watch Video Solution

48. Find the equation of the ellipse in the

following case: Foci ( + 3,0), a = 4

o Watch Video Solution



https://dl.doubtnut.com/l/_xvTkcaJLugfO
https://dl.doubtnut.com/l/_bUaNI42xejoB

49. Find the equation of the ellipse whose foci

are (4,0) and (-4,0), eccentricity =1/3.

° Watch Video Solution

50. Find the equation of the ellipse whose
minor axis is equal to distance between the

foci and latus rectum is 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_ummhePLAnQBy
https://dl.doubtnut.com/l/_EmXojLaYMk76

51. Find the equation of the ellipse whose
centre is (-2,3) and whose semi axes are 3 and
2 when major axis is (i.) parallel to x-axis (ii.)

parallel to y-axis.

° Watch Video Solution

52. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_iECDMVsMilc2
https://dl.doubtnut.com/l/_zDu9BMTWQ0lP
https://dl.doubtnut.com/l/_tmGODE2vh4KU

53. Find the centre ,the lengths of the axes,
eccentricity, foci of the following ellipse:

z? + 2y —2x + 12y +10 =0

o Watch Video Solution

54. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellipse:

(327 + 4y® — 12z — 8y + 4)=0

o Watch Video Solution



https://dl.doubtnut.com/l/_tmGODE2vh4KU
https://dl.doubtnut.com/l/_FrbGF75u3ePt
https://dl.doubtnut.com/l/_k6Px7zNogONa

55. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellipse:

A +y> —8x +2y+1=0

o Watch Video Solution

56. Find the centre, the lengths of the axes,
eccentricity, foci of the following ellipse:

Az + 16y* — 24z — 32y — 2 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_k6Px7zNogONa
https://dl.doubtnut.com/l/_1XGd66Soktj9

57. Find the centre ,jthe lengths of the axes,
eccentricity, foci of the following ellipse:

322 +4y> — 1220 —8y+3=0

o Watch Video Solution

58. Find the centre ,the lengths of the axes,
eccentricity, foci of the following ellipse:

z? +4y> — 22 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_it8ZgbmikxHT
https://dl.doubtnut.com/l/_iuKqodFp1fnt
https://dl.doubtnut.com/l/_qzqLBZ8HygkM

59. Find the equation of an ellipse whose foci
are at (£ 3,0) and which passes through

(4,1).

o Watch Video Solution

60. Find the equation of an ellipse whose
eccentricity is 2/3, the latus rectum is 5 and

the centre is at the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_qzqLBZ8HygkM
https://dl.doubtnut.com/l/_W7adUo41sY45
https://dl.doubtnut.com/l/_pNEIm2rZKhZI

61. Find the equation of an ellipse with its foci
on y-axis, eccentricity 3/4 , centre at the origin

and passing through (6,4).

o Watch Video Solution

62. Find the equation of an ellipse whose axes
lie along coordinate axes and which passes

through (4,3) and (-14).

o Watch Video Solution



https://dl.doubtnut.com/l/_pNEIm2rZKhZI
https://dl.doubtnut.com/l/_luUUygpWEWKM

63. Find the equation of an ellipse whose axes
lie along the coordinate axes, which passes

through the point (-3,1) and has eccentricity

equal to 4/2/5

o Watch Video Solution

64. Find the equation of an ellipse the
distance between the foci is 8 units and the

distance between the directrices is 18 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_TbzLIRgWJ78h
https://dl.doubtnut.com/l/_kwD2OMibZ5uK

65. Find the equation of an ellipse whose

vertices are (0, + 10) and eccentricity e = £

o Watch Video Solution

66. A rod of length 12 cm moves with its ends
always touching the coordinate axes.
Determine the equation of the locus of a point
P on the rod, which is 3cm from the end in

contact with the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_kwD2OMibZ5uK
https://dl.doubtnut.com/l/_fdkQuCsVkuFS
https://dl.doubtnut.com/l/_JKw9lvBv74d2

67. If the lengths of semi major and semi
minor axes of an ellipse are 2 and /3 and
their corresponding equation are
y—5=0andx +3 =0 then write the

equation of the ellipse.

o Watch Video Solution

68. Write the eccentricity of the ellipse

922 + 5y? — 18z — 2y — 16 = 0.

| = 1


https://dl.doubtnut.com/l/_JKw9lvBv74d2
https://dl.doubtnut.com/l/_dGnVGrEjkuvx
https://dl.doubtnut.com/l/_yoddnqUu59V4

I &9 Watch Video Solution I

69. Write the centre and eccentricity of the

ellipse 3z* 4+ 4y* — 6z + 8y — 5 = 0.

o Watch Video Solution

70. PSQ is a focal chord of the ellipse
4z% + 9y® = 36 such that SP=4. If S' the

another focus write the value of S'Q.

o Watch Video Solution



https://dl.doubtnut.com/l/_yoddnqUu59V4
https://dl.doubtnut.com/l/_5sEsNGFPoRSP
https://dl.doubtnut.com/l/_m2dBHeNjgO8T

71. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

° Watch Video Solution

72. The eccentricity of the ellipse, if the
distance between the foci is equal to the

lenght of the latus rectum, is

° Watch Video Solution



https://dl.doubtnut.com/l/_jYsGHN0Xn476
https://dl.doubtnut.com/l/_XPPE8GcgksrL

73. If Sand S’ are two foci of the ellipse
22 yz
— + — = 1and B is and end of the minor
a b2

axis such that A BSS’ is equilateral, then

write the eccentricity of the ellipse.

o Watch Video Solution

74. If the minor axis of an ellipse subtends an
equilateral triangle with vertex at one end of
major axis, then write the eccentricity of the

ellipse.


https://dl.doubtnut.com/l/_fl321SYOrPOB
https://dl.doubtnut.com/l/_BmsUtBNJjs1Q

3

B.e = z

3
C.e = l
3
D.e = E
4

Answer: A

o Watch Video Solution

75. If a latus rectum of an ellipse subtends a
right angle at the centre of the ellipse, then

write the eccentricity of the ellipse.


https://dl.doubtnut.com/l/_BmsUtBNJjs1Q
https://dl.doubtnut.com/l/_4IQsi9yN6mJr

° Watch Video Solution

76. For the ellipse
1222 + 4y* + 24z — 16y + 25 = 0 a.centre is

( — 1, 2) b. lengths of the axes are /3 and 1 c.

/2
eccentricity = 3 d. all of these

o Watch Video Solution

77. The directrix of the parabola

z? — 4z — 8y + 12 =0is



https://dl.doubtnut.com/l/_4IQsi9yN6mJr
https://dl.doubtnut.com/l/_TMeTLrxVlzu3
https://dl.doubtnut.com/l/_SBr3LUDjccDQ

I o Watch Video Solution

78. The equation of the ellipse with focus (-1,1)
directrix ¢ — y + 3 = 0 and eccentricity is a.
72 + 2ey+ Ty’ + 102 + 10y +7=0  b.
Tx? + 2zy + Ty’ + 10z — 10y +7 =0 .
72’ + 2zy+ Ty’ + 10z — 10y +7=0  d.

None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_SBr3LUDjccDQ
https://dl.doubtnut.com/l/_kmzsK7TgVYE5

79. The equation of the circle drawn with the

2 2

two foci of zc_ + 2 1 as the end-points of

a diameter is

° Watch Video Solution

80. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_VfMuVGEf1Oxd
https://dl.doubtnut.com/l/_lkmi7GQ8AnkQ

81. The eccentricity of the ellipse if the

distance between the foci is equal to the

VvH—1

5 b.

length of the latus rectum is a.

VB+1 5-1
C

5 . 1 d. none of these

o Watch Video Solution

82. The eccentricity of ellipse, if the distance

. . V3, 2
between the foci and LR is same a. b.

2 3
1d\/3—1
V2 2

C.

o Watch Video Solution



https://dl.doubtnut.com/l/_TxGmM0z432Z7
https://dl.doubtnut.com/l/_QzNWLS8ynCZG

8. The difference between the lengths of the
major axis and the latus rectum of an ellipse is

a.ae b. 2ae c. ae® d. 2ae?

o Watch Video Solution

84. The eccentricity of the conic
9z + 25y° = 225isa2/5b4/5¢c.1/3d.1/5

e.3/5

o Watch Video Solution



https://dl.doubtnut.com/l/_QzNWLS8ynCZG
https://dl.doubtnut.com/l/_zAj0XT2bt3ig
https://dl.doubtnut.com/l/_xLeu9rS5R9mR

85. The latus rectum of the conic

3
3z? +4y> — 6z +8y—5=0is a3 b. % C.
2
—— d. none of these
V3

o Watch Video Solution

86. Find the equations of the tangents drawn
from the point (2, 3) to the ellipse

922 + 16y* = 144.

o Watch Video Solution



https://dl.doubtnut.com/l/_xLeu9rS5R9mR
https://dl.doubtnut.com/l/_eGymmg1nX4F6
https://dl.doubtnut.com/l/_bjkJtWVgmeAg

87. The eccentricity of the ellipse

5 5 .5 3
dx* + Yy +8a:—|—36y+4:0|sa.€ b.gc.
v2 V5
3 3

o Watch Video Solution

88. The eccentricity of the ellipse

422 + 9y? = 36is



https://dl.doubtnut.com/l/_bjkJtWVgmeAg
https://dl.doubtnut.com/l/_jVZipB56PXyZ
https://dl.doubtnut.com/l/_Uc2e1ONT4461

n

o[ % e[S

o Watch Video Solution

89. The eccentricity of the ellipse

5z° +9y* = lisa2/3b.3/4c.4/5d.1/2

o Watch Video Solution

90. For the ellipse z?+4y? =9 a. the

eccentricity is 1/2 b. the latus rectumis 3/2 c. a


https://dl.doubtnut.com/l/_Uc2e1ONT4461
https://dl.doubtnut.com/l/_06bd0bX2FAOn
https://dl.doubtnut.com/l/_5iecjGEJ1ui9

focus is (34/3, 0) d.adirectrixisz = — 2,/3

o Watch Video Solution

9. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.

° Watch Video Solution

92. An ellipse has its centre at (1,-1) and semi
major axis =8 and it passes through the point

(1,3). The equation of the ellipse is a.


https://dl.doubtnut.com/l/_5iecjGEJ1ui9
https://dl.doubtnut.com/l/_1pljZZLaPMr0
https://dl.doubtnut.com/l/_Towhdia9Kb3m

(z+1)7  (y+1)°

64 T 16 ! b
(=’13—1)2+(:y—1)2_1 )

64 16

2 2

(z —1) +(y+1) . .

64 16
(fff3+1)2+(y—1)2:1

64 16

° Watch Video Solution

93. Find the sum of the focal distances of any

point on the ellipse 9z% + 16y* = 144.

o Watch Video Solution



https://dl.doubtnut.com/l/_Towhdia9Kb3m
https://dl.doubtnut.com/l/_ikuR7XDQVrCE
https://dl.doubtnut.com/l/_qAWnv0U4jGYA

94. If (2,4) and (10,10) are the ends of a latus
rectum of an ellipse with eccentricity then the
length of semi major axis is a.20/3 b. 15/3 c.

40 /3 d. none of these

° Watch Video Solution

2 2
Y
2—X  A—=5

represents an elipse, if

95. The equation

+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_qAWnv0U4jGYA
https://dl.doubtnut.com/l/_BYkzcZSgcRAa

96. The eccentricity of the ellipse
92 + 25y° — 18z — 100y — 116 =0 is a.

25/16b.4/5¢.16/25d.5/4

o Watch Video Solution

97. If the major axis of an ellipse is three times

the minor axis, then its eccentricity is equal to

1 1 1 24/2 3
a.— d e.

3b.\/gc.\/é. 3 33

° Watch Video Solution



https://dl.doubtnut.com/l/_WHg9W78JsvfC
https://dl.doubtnut.com/l/_XrIeE9iWc6pk
https://dl.doubtnut.com/l/_HmzFV0R0BsB6

98. The eccentricity of the ellipse
2522 + 16y* = 400 is a.3/5 b. 1/3 c. 2/5 d.

1/5

o Watch Video Solution

99. The eccentricity of the ellipse

522 +9y* = lisa2/3b.3/4c.4/5d.1/2

o Watch Video Solution



https://dl.doubtnut.com/l/_HmzFV0R0BsB6
https://dl.doubtnut.com/l/_qLRLR3Cbznxv

100. The eccentricity of the ellipse

1 1 5
4z + 9y* = 36 is a. b. C. V5 d.
23 /3 3
V5
6

o Watch Video Solution



https://dl.doubtnut.com/l/_2Dg0ncJIWOEv

